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1. TP BH 9 o Rufa & grft wefe - 1. The equilibrium of a firm occurs when :

(A) AR=MR (A) AR=MR
(B) MC=MR (B) MC=MR
(C) AC=MC (C) AC=MC
(D) SWE ¥ | FIg el (D) None of the above
2. fwfafEa & @ a&-w1 I g 2. Which of the following industries most
yferil) dted @ FaiRE ToEd B el closely approximates the perfectly
59 competitive model ?
(A) g Bl T (A) Wheat farming
(B) Rrme (B) Cigarettes
(C) JCHERA (C) Automobile
(D) SUYw H H I el (D) None of the above
3. T & Uh & WM W SyAY W b 3. Control on a product to availability in a
PR R W =T @ FEd particular place is called :
(A) VBE THRER (A) Voluntary monopoly
(B) WHINIG THIEIHR (B) Social monopoly
(C) W TSR (C) Legal monopoly
(D) Wigfdd THEHR (D) Natural monopoly

4, TH B I G - WM R 4. When different factories of a business
Rd sMd dREM e & EE ¥ g situated in different places come under

one management or control, then it is :

SUCERE

(A) afoeT e (A) Horizontal combination
(B) of¥dq fAer (B) Vertical combination
(C) UBIEHR (C) Monopoly

(D) QUT wfrIRa (D) Perfect competition

C010205T (3) Set-B



THIMIBRT BF BT 41T I BNl © -

(A) TRI-3ETT & FARR
(B) TTS-FETI & TR
(C) N ¥ IR A=A gan
(D) ¥ ¥ SR HW Sodl Fall

3ol GRIIAT  SeH! 3 6

(A) R B &
(B) AT &l 8
(C) @9 &Rl @

(D) 3w BRit &

T4 3D BH SRMT aRY 99, A I
e ¢ :

(A) TaIHeR

(8 i uffra

(C) VBIRAGRI Yfaiar

(D) SeT wcrfe

UHIIGR U H SAG gad@y &

PR AR Ih

(A) I8P AFSR BT 8
(B) ®¥ WIGSR BT @
(C) <IN 3R Rawd e 8
(D) SWad # | BIS T2

C010205T

(4)

The demand curve of a monopolistic

firm will be :

(A) Parallel to x-axis

(B) Parallel to y-axis

(C) Sloping donward from left to right

(D) Rising upward from left to right

Number of producers in imperfect

competition is :

(A) Unlimited

(B) Limited

(C) Less

(D) More

When many firms produce goods which
do not have substitutes, it is called :

(A) Monopoly

(B) Perfect competition

(C) Monopolistic competition

(D) Imperfect competition

Product differentiation makes the demand
curve of the firm under monopolistic

competition :

(A) More elastic
(B) Less elastic
(C) Shift rightward

(D) None of the above

Set-B



9. fIavor &1 M SATSHdT Rig

(A) T WL XA ¢ (& T ATRS

B fedl ST 9EF Bl Sgd)

SAEHA & HRY RIS Bl 2 |
(B) & IHN FHgrd § ok IuD
e A Al @ TIRSHS @
T B A e 2 |
(C) ¥IT W Fxal ® fb SRy & e
B DG FER @1 AR

JATSHhar 2 |

(D) SHIE W

10. MG SATGHaT Mg [Gil W I @

RS BT TS

(A) ERT JdIed 9% & dHd 4 e
EGIRS

(B) Hel Sed H ¥ W IfweH W
e < B |

(C) ERT ST 9% & Bl Scued ¥
AR AT R ¢ |

(D) T SeET ¥ WS 3T B

C010205T (5)

10.

Marginal  productivity  theory  of

distribution :

(A) explains that a business firm
employs a factor of production

because of its productivity.

(B) is a general principle and through
this the remuneration of all the

factors can be explained.

(C) explains that marginal productivity
is the basis for determining the

price of factor of production

(D) All of the above

Marginal productivity theory relates the

remuneration of any factor to :

(A) The price of commodity produced
by it.

(B) Adds it to the contribution made to
the total output.

(C) The total of the commodity by it

relates to production.

(D) Adds to the average production.

Set-B



11.

12.

13.

A Scaresar Rigra @1 =feRad o

A P ARG 9 @ O W a8

RT3 © ?

(A) T ISFIR & Reafy

(B) TA® IR @I i sHRIA Bl
TAGY BT

(C) WM dR 1 9% dI9R aFl o
oot SR &1 g

(D) Suda Wl
Ife |reF R A Qb gferifar e
g, @ U@ w1 @ 9 @ Refa 4

(A) MRP = MFC
(B)

(©)

AFC = MFC

MFC = MRP = AFC

(D) SWa ¥ ¥ I3 T

IRAfIS Ao W IR 2l ®
(A) @ @ Iqid gRT

(B) &1 AT Td gfif g
(C) W @ H7 ufdd R

(D) %M |Ted gRI

C010205T

(6)

11.

12.

13.

Which one of the following assumptions
of the marginal productivity theory is

correct on which this theory is based ?

(A)
(B)

The condition of full employment

The uniformity of all units of each

factor

Both in the factor market and in the

(©)

commodity market perfect

competition

(D) All of the above

If there is perfect competition in the
instrument market, then in the case of

equilibrium of a firm :

(A) MRP = MFC
(B)
(©)

(D)

AFC = MFC
MFC = MRP = AFC

None of the above

Real wages are affected by :

(A) Nature of work

(B) Demand and supply of labour

(C) Purchasing power of rupee

(D) Labour organization

Set-B



14.

15.

16.

17.

The HOY qdaq Yed &Y Jed gig 'MW 14,

A IR AT
(A) e

(B) ¥ &Rl

(C) Jmaq &
(D) B

S9 Ud Wednil e 99 AR ted 15

UAESE & W BT 8, O 39 ded ©
(A) TP I weqrell

(B) dgHI HicarSil

(C) dgfTaTamr Wil

(D) STdad # & Big AL

59 B AT AT © 16.

(A)  TET AT
(B) WP A
(C) 3T w

(D) I~ A

oS o T DO A ARG w1

g 2 fd S AU W W
i

(A) 3P BH B T |

(B) &H B B 2 |

(C) o9 99 &M & foly IR 8 & |
(D) 3% I $M & forv IR 8 B |

C010205T (7)

Real wages due to increase in price while
cash wages remain the same :

(A) Increase

(B) Be zero

(C) Remain the same

(D) Decrease

When the bargaining takes place between
a union and an employer, it is called :

(A) One plant bargaining

(B) Multiplant bargaining

(C) Multiple employer bargaining

(D) None of the above

The demand for labour is called :

(A) Direct demand

(B) Supplementary demand

(C) Income demand

(D) Derived demand

Reversal of the supply curve of labour

means that workers at a higher wage

rate :

(A) Work more.
(B) Work less.
(C) Spend less time ready to work.

(D) Get ready for work more time.

Set-B



18.

19.

20.

21.

o B ead AT MEiRd e
el T © -

(A) SIS BT ST

(B) SIM® &I MM ScTGhdl

(C) #M&® o AHING FidwT

(D) &% & 6T 9 gfd

o/ BMd W Te 9% Bl a9k Yf 3R
ISR AT aRTeR Bl 8, I $ed o

(A) S da
(B) el P
(C) faf~ @Ha
(D) SWE # W B &

qHET B ARM AR DT BT dEd
B

(A) IR DT

(B) Ufcrarft oHd

(C) WERY HHd

(D) SWa ¥ ¥ FI5 T

U6 q9R ¥ 9ga-9 ol Ud fasar §1 9
q6Y IY TP B DG W GNad ql
9o 8 U9 IR BT FEd §

THIRIBR

ot et

CEURYRDIEIG)

SUge Fl

(A)
(B)
(©)
(D)

C010205T

(8)

18.

19.

20.

21.

The element which determines the calling
of wages is :

(A)
(B)
(©)
(D)

Standard of living of the worker
Marginal productivity of the worker
Social status of the worker

Demand and supply of the worker

The
market element for a commodity are

price where market supply and

equal is called :
(A)
(B)
(©)
(D)

Fair price

Equilibrium price

Differentiated

None of the above

During long period, equilibrium price is
known as :

(A)
(B)
(©)
(D)

Market price
Competitive price
Normal price

None of the above

There are large number of buyers and
sellers of a homogeneous commodity.
The market is known as :

(A)
(B)
(©)
(D)

Monopoly
Perfect competition
Imperfect competition

All of the above

Set-B



22. UG @R feH 9WR H TS axg #1 22, A market situation where there is a single

Sl TP B Rrdar 27 2. 99 PEy § seller of a product is called :
(A) QU iR (A) Perfect competition
(B) TUBIEIBR (B) Monopoly

(C) 3yel yfcRfirar (C) Imperfect competition
(D) SWa &l (D) All of the above

23. THE WOIGN, AOIQX GRT fhy /@ 73 23.  Piece wages are paid according to ...........

& AR < A B done by worker.
(A) T (A) wage
(B) @H (B) work
C) %M (C) labour
(D) SWE ¥ | TS el (D) None of the above
24, WG DI RO HIHF-41 © ? 24.  Which is concept of wages ?
(A) A (A) Nominal
(B) ardfd® (B) Real
(C) G (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H § I Tl (D) None of the above
25. 2 RIS Bl VbRl Rigrd ded @ 25.  This theory is called onesided theory :
(A) ImfTH (A) Modern
(B) farg (B) Subsistence
(C) VEgdI™ (C) Managerial
(D) SUYa H A Bl 7l (D) None of the above

C010205T (9) Set-B



26.

217.

28.

29.

C010205T

gl

(A) dRAAd

(B) W

(C) dfdeTH®

(D) Suda Wl

SUET & I & foly fhrram ¥eile &
(A) ST

(B) &

(C) @I (A) R (B)

(D) STda # & Big AL

g

(A) EA
(B) gl
(C) anfdew
(D) SHIE W

Wl & fbd w9 # e iR fdar o
AHA T 7

(A) fawgd

(B) "B

(© A @ el

(D) ST W

(10)

217.

28.

29.

Hours of work determine ............. wages.

(A) Real
(B) Natural
(C) Contractual

(D) All of the above

Rent is receipt for use of production :
(A) Use

(B) Factor

(C) Both (A) and (B)

(D) None of the above

Rent is also called ........... surplus.

(A) Factor

(B) Balance

(C) Economic

(D) All of the above

Rent can be determined in which form of
cultivation ?

(A) Extensive

(B) Intensive

(C) Cultivation of land

(D) All of the above

Set-B



30.

31.

32.

C010205T

Reprfea Rigrd @1 grom HI9-W g ?

(A) < Iafe
(B) P13 fhvy & THIH TR
(C) S @I HHI

(D) Suda Wl

YA B

(A) g

(B) arferp

(C) &

(D) SUF # ¥ B T

e F ©FRIRG 38 @ SR o
SfoRe wret exr & 99 -

(A) e T R A T & B
Thd 2 |

(B) 3Mf® I BT Fhd ¢ |

(C) W™ oM $8 ad ¢ |

(D) SUYa H A Bl 7l

(11)

30.

31.

32.

Which is an assumption of Ricardian

theory ?

(A) Long-run
(B) No rent land
(C) Scarcity of land

(D) All of the above

Modern rent is a payment in ............. of

transfer earnings.

(A) Balance

(B) Excess

(C) Deficit

(D) None of the above

Whatever extra is received over the

transfer income of the factor, it can be

called :

(A) Both economic and equlibrium rent

(B) Economic rent
(C) Equilibrium rent

(D) None of the above

Set-B



33, afured § e g @ a9 4R 33,

92 R

(A) PIS T ST~ 78] BT B |

(B) ST oM I~ il 2|

(C) TI oW & S+ &8Il & |

(D) SWE & W B &l

34, M dddra § A IRafdd I Ia= 34

R Ah 8 Al
(A) 4 B AT B AR TR

Tl I Ghell 2 |
(B) % AFIRT A € |
(C) 9 @ AT ® b H TR

GO Sff el 2 |

(D) A Fofd @ <7 &

35. DI B I NIErd DI g 1 F ST 35.

ST & 7

(A) - &1 &l B Rigr
(B) &N &I 9-ufafted Rigrd
(C) TRAdT gl RIgrd

(D) WM SdEHd g

C010205T (12)

Marginal land in economics is that land
of which :

(A) No rentis generated.

(B) High rent is generated.

(C) Only normal rent arises.

(D) None of the above

Land can also generate real rent in the

long-run because :

(A) The amount of land cannot be

increased in the short-run.

(B) Land is a human resource.

(C) Quantity of land cannot be

increased in the long-run.

(D) Land is a gift of nature.

By what name is Keynes’ theory of

Interest known ?

(A) Hanson-Hick’s interest theory
(B) Neo-classical theory of interest
(C) Liquidity preference theory

(D) Marginal productivity theory

Set-B



3. ® FWEd & Sewd ¥ B T qar @ 36. The demand for money made for the

g T 3 ik et & - purpose of performance dependes mainly
on:

(A) ggmrEm @ Ia9M TR W (A) The present level of expectation

(B) &N &I q9M TR W (B) The current rate of interest

(C) I ® IIHH TR (C) The current level of income

(D) oM™ D Ja9M TR W (D) The current level of profit

37. SYR -BY RIgT & Ifques 2 37. The exponent of Loanable fund theory

is :

(A) freat (A) Myrdal

(B) (B) Clark

(C) @4 (C) Keynes

(D) famde (D) Wicksell

38. TcARN BT QAN @x& oM wAM @1 38, The tendency to make profit by

Gl T FEY anticipating events is called :
(A) < 3 (A) Foresight

(B) WccI St (B) Speculative objectives
(C) IRew Seey (C) Risk objectives

(D) AT-CF BT S (D) Transaction objectives

C010205T (13) Set-B



39. WOR I 319 §F gNT drdidd a1 &1 39. The supply of real money by the

‘Iﬁ SR IR B 3 Government or the Central Bank is called
............... according to Keynes.
(A) T @ g (A) Supply of demand
(B) H&T &I Ufd (B) Supply of money
(C) SR &l qfd (C) Supply of risk
(D) fafamT @1 ufid (D) Supply of investment
40. oM Bl 8 40. Profitis
(A) TF FEiRT am (A) A fixed income
(B) ffEa Iy (B) Fixed balance
(C) HRad Ry (C) Uncertain residual
(D) SWE ¥ | TS el (D) None of the above
41, ™M @& JFR=adr gg7 fNera @ A1, e propounded the uncertainty
gferarest fova carrying principle of profit.
(A) #EE A (A) Marshall
(B) AR (B) Schumpeter
(C) o (C) Clark
(D) e (D) Knight

42. oM & Aavdaq RIErd o7 ufaures faar 42. The innovation theory of profit has been

3. propounded by :

(A) A = (A) Marshall

(B) . F® o (B) Prof. Clark

(C) W se d (C) Prof. Knight
(D) W. gAflex (D) Prof. Schumpeter

C010205T (14) Set-B



43. =fafgd § 9 o9-91 981 8 ? 43.  Which of the following is correct ?

(A) @ AN = G IAH — WE ATTd (A) Total profit = Total revenue —
ae oid Explicit costs — Implicit costs
(B) @l oM = ol JNH — IJWE (B) Total profit = Total revenue -
ST Implicit costs
(C) @t oM = e am - RUR (C) Total profit = Economic profit —
S Implicit costs
(D) @/ dM = R AH — W AT (D) Total profit = Total revenue —

Explicit costs

44. W aﬁﬁ Q‘cﬁ—?ﬁﬁ T WM W® YN P 44. Goods which are used in place of one

T ¥ g another are called :

(A) URRenfiT TRy @ed ¢ | (A) Substitute goods.

(B) Td q{gﬁ Phed ¢ | (B) Complementary goods.
(C) WU TR PeEd ¢ | (C) Accomplice goods.
(D) oISl TRV Fedl 7 | (D) Cross goods.

45 H aq?ja,ﬁ DI YT IR DI I8 TOT B 45. Demand is that desire of acquiring a

R T 3@ : product in which :

(A) e gl (A) There are resources to buy it

(B) & (B) There is patience

(C) W&l (C) There is the willingness to buy it
(D) SRINU] (D) There is readiness

C010205T (15) Set-B



46.

47.

48.

C010205T

AR @ g B A B o A

gD T, A d IR ©

A) [P
(B) dfear
(C) a=

(D) AT~

A fedl awg @ AN H uRacd Iue
Tl URad & U # 2T g,

(A) ¥ ol

(B) THE W HH @/
(C) ol draer
(D) I FeEER

FfeiRad § | BIF-91 3R AT Bl
Ty e 8

(A) IRAAS AT

(B) TN &l AN

(C) Jdfeud oANTd

(D) BRIV 39

(16)

46.

47.

48.

If cross elasticity of demand between two

commodities is positive, then these

products are :

(A) Complements

(B) Inferior

(C) Independent

(D) Substitutes

If the change in the demand of the
commaodity is proportionate to the change

in price, then :

(A) Unit elasticity

(B) Less than unit elasticity

(C) Perfectly elasticity

(D) Perfectly inelasticity

Which of the following is not synonym of

opportunity cost ?

(A) Real cost
(B) Abstinence cost
(C) Alternative cost

(D) Transfer earnings

Set-B



49. f=foRed § ¥ o9-0) ovd S § 49. Which of the following costs increases

afe & 1Y 9edl ol § 7 continuously with the increase in
production ?

(A) 39T AR (A) Average cost
(B) Rer @mrd (B) Fixed cost
(C) NMI AT (C) Marginal cost
(D) uRTGT oTTd (D) Variable cost
50. 3UBIT H Wd Udh BH Bl SIS dad] 50. In the short-run, when the output of a
%’ a1 3 3T ReR o firm increases, its average fixed cost :
(A) T B (A) decreases
(B) el 8 (B) Increases
(C) ddq 91 Yedl g (C) remains constant
(D) UEd AR B fR gl & (D) first declines and then rises
51, e Al W Y © 51. Expenses of raw material is :
(A) IR RSIRI] (A) Fixed cost
(B) uRaaTR T (B) Variable cost
(C) I oNTd (C) Opportunity cost
(D) Suga H A Bl 7Tl (D) None of the above
52. 3G oI Pl GROT fhdd BRI I~ 52. Concept of opportunity cost arises due
B & 7 to:
(A) SIfy & 9 (A) Law of Return
(B) I @I fafdrear (B) Specialisation of factors
(C) ST @ arfafdrear (C) Unspecialisation of factors
(D) SUYa H A Bl 7l (D) None of the above

C010205T (17) Set.B



53. ONG-oW Sdled @l AR 9, diNd
uRadeledl dFTd U4 39d oFTd & 9
CARCRE
(A) el
(B) Tl
©) fRer M
(D) VIR B

54. JIEd NG S9 fdg W A ANd @
IR B 7, STel
(A) 3T I e DA B |
(B) XM T We¥I B & |
(C) ¥ @ Al g8 &)

(D) SWE ¥ | TS el

55. Nd-Sdded R b egyd H
fy=foRad & fRuRo & derrar o g
2
(A) DHd
(B) 3dcIad SeUTeT wR
(C) T ®’R
(D) SWa ¥ ¥ I3 T

56. QrHdlele 3MFd oFTd db bl HET W]
2
(A) 3RV I
(B) fIIH a%

(C) T (A) Td (B)
(D) @ (A) 3R T & (B)

C010205T

(18)

53.

54.

55.

56.

As per increase in production, the

difference between average variable cost
(AVC) and average cost (AC) will :

(A) Increase
(B) Decrease
(C) Be fixed

(D) Be paralled to each other

Average cost is equal to marginal cost,
where :

(A) Average cost is lowest.

(B) Marginal cost is lowest.

(C) Marginal cost is decreasing.
(D) None of the above

Cost-output relationship helps in the
study of the following :

(A) Price

(B) Optimum output level
(C) Demand level

(D) None of the above

Long-run average cost curve is known
as:

(A) Envelope curve

(B) Planning curve

(C) Both (A)and (B)

(D) Neither (A) nor (B)

Set-B



57. [fciEd 4 & $F-91 U-odfd &1 9% 57.

T 7 ?

(A) N B AN 9

(B) 3id ReR ovd a%

(C) 3id gRac=eie aFTa ash

(D) M ANTd dsh

58. URGCTHA SU & RIH BT T ¢ - 58.

(A) IIHUBIA Td TR |
(B) THGIA |
(C) 3rUBTA |

(D) ¥ FABA ¥ 7 B B |

59. URadeel aud &1 fgH &H 99 R 59.

® IR § qAT B, 99 SAIed df 7ET |

gfg

(A) Dad ReR AR B A1 TSThR. Dl
Sl & |

(B) Rer iR uRadwfia =i @ AF
TR BT ST 2 |

(C) ®gd URad=eNd WAl B AT
qGTHR B AT 2 |

(D) SWad # | BIS T

C010205T (19)

Which of the following is not U-shaped
curve ?

(A) Average Total Cost (ATC) Curve
(B) Average Fixed Cost (AFC) Curve

(C) Awverage Variable Cost (AVC)
Curve

(D) Marginal Cost (MC) Curve

The law of variable proportion is related

to:

(A) Short-run and long-run

(B) Long-run

(C) Short-run

(D) Neither short run nor long-run

The law of variable proportion tells us

about the situation when the quantity of

output is increased by :

(A) only increasing the quantity of

fixed factors only.

(B) increasing the quantity of both

fixed and variable factors.

(C) done by increasing the quantity of

variable factors only.

(D) None of the above

Set-B



60.

61.

62.

C010205T

ST Ufiwal & 99

(A) Bad Ser § & AN g @

(B) ®ad WA H oI &I &

(C) SEN R fIeha AN T2l &m 8
(D) TS AM & 9% Y& oniia foar

R AN B & |

TS I :

(A) T IRE @S9 fafts dan @
garar & 9 THE Seared fierar
g

(B) SIGH $I gekil g3 ATAT Bl Tl

g |
(C) 3ifdpcaq Ice Bl adraT & |

(D) ReR IAEA I 9a ©
faeTR 4T a1 FEd €

(A) I Y
(B) H & UAM @I &I

(C) =IATH I Xl

(D) SWad # | IS T

(20)

60.

61.

62.

Law of diminising returns :

(A) Isapplicable only in industries.
(B) Is applicable only in agriculture.
(C) Does not apply to industries at all.

(D) Applies to every economic activity

after a limit.

Output curve :

(A) Shows the different combinations
of two factors that give the same

output.

(B) Shows the varying quantity of

output.

(C) Denotes maximum output.

(D) Denotes constant output.

What is the extension path called ?

(A) Ratio line

(B) Line of scale of the firm

(C) Minimum cost line

(D) None of the above
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63. UM & gfdme ¥ : 63. Inreturn of scale :

(A) BB WEF ReR @ B R 6B (A) Some of the means remain constant
e gRaaTIe e £ and some of the means are variable.

(B) I wEEl @ AT H uRadd fhar (B) The quantity of all the factors is
ST 2 changed.

(C) I WEFT @I A H TP & U (C) The quantities of all the resources
¥ gRad fbar o 2| are changed in the same proportion.

(D) I WA ReR T&d § | (D) All resources remain fixed.

64. CIHPTl ST B B I T 64. The long-run production function is
related to :

(A) SaRt g™ fH g (A) The law of depreciation

(B) URacHIe U & W 9 (B) The law of variable proportions

(C) UM % gfiwa 9 (C) Return of scale

(D) SUgad JHI (D) All of the above

65. for=iforRad § ¥ &IF-97 o< Ug 9redl 65.  Which of the following arises due to

internal and external savings ?

gl D PR I eldl % ?

(A) TH @7 ReR ufwd (A) Fixed return to scale

(B) UHM @ Tedr Ui (B) Diminshing return to scale
(©) U T gedl Ufdmhd (C) Increasing return to scale
(D) Sudad H § BIg Al (D) Any of the above
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66.

67.

68.

69.

C010205T

ITel 99d O B
(A) Th BH & gRI
(B) 9ga-¥l WHI & gRI

(C) DI SUEH & gNI
(D) ST # ¥ PR T

SAET B Tdh WA § IRE TeM W
T BRIl B

(A) <M

(B) Fud

(C) 3@

(D) STdad # & Big AL

U UM 6 SR & UAMT 98 W
3iNTd AT

(A) el &

(B) ®edl §

(C) TAM &l ®

(D) SWad # | BIg T2

e It ey ST fdg @
SR ScTed & Y9M @I Rl Ol T,
T Saredl @ FHfoRad w B &
(A) @

(B)

(C) 3aR® T

(D) g fa

(22)

66.

67.

68.

69.

Exteral savings are received by :
(A) One firm

(B) Many firms

(C) Small producer

(D) None of the above

Increasing production beyond a certain
limit gives :

(A) Profit

(B) Savings

(C) Non-savings

(D) None of the above

On increasing the scale of production to a

certain extent, average cost :

(A) Increases
(B) Decreases
(C) Remains the same

(D) None of the above

In the long-run, if the scale of production
is increased beyond the ideal point of
production, then the producers get the

following :

(A) Non-savings
(B) Savings

(C) Internal savings

(D) Diminishing law

Set-B



70. oM 99 99 90— 2IdT § &

(A)

(B)

(©)

(D)

oy TR &

TR A U, 8
SWa # 9 31 TE

71, @A M H BH-Y T WA [y S

g?

(A)

(B)

(©)

(D)

W R AIREH IO B REDR

I & WM & forg fear T e
31iq 3 T

YA GuR TR o Sl a1 el qe
VAT & IR BT gTRAIyor

Sy |4l

T A S 2

(A)
(B)
(©)
(D)

C010205T

e
EEECEI!
PIEIE]
BERIIEIR

(23)

70.

71.

72.

Rent arises when :

(A)

(B)

(©)

(D)

Land is mobile.

All land is fertile.

Supply of land is perfectly elastic.

None of the above

Which elements are included in the total

rent ?

(A)

(B)

(©)

(D)

Reward for risk taking by the land
owner
Rent paid for the use of land i. e.

economic rent

Interest on capital employed on
land improvement and reward for
the labour of the land owner

All of the above

Business Economics is also known as

(A)
(B)
(©)
(D)

...... Economics.

Macro
Managerial
Ancient

Neo-classical

Set-B



73.

74.

75.

C010205T

fowy & |

(A) afte

(B) WA
(C) awd

(D) ST W

AT, STed UG fdshd @ 3R
W R A AR /T
SICPAvIGES
(A) T
(B) ey

g ARG FFIRA Bl faQiweT 2

(A) W@ H G
(B) T@MId H YIS
(C) AAROMHD

(D) ST W

(24)

73.

74.

75.

Economy as a whole is subject of ............
Economics.

(A) Micro

(B) Macro

(C) Business

(D) All of the above

are made on the basis of

forecasts based on cost, production and

sales.
(A) Plans
(B) Ideals

(C) Diversities

(D) Buildings

This is the feature of Business

Economics :

(A) Micro in nature

(B) Normative in nature

(C) Conceptional

(D) All of the above
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76. €l AR M BT S Hal gam o ? 76.  Where was D. R. Gadgil born ?

(A) TRI® H (A) In Nasik
(B) YU H (B) InPune
©) qITe § (C) In Bhopal
(D) faeel (D) In Delhi
77. Tﬁtrl?l'c!Z&JT RISl BT O H P g3l o ? 77. When was Gopal Krishna Gokhale
born ?
(A) 9 TS, 1866 (A) 9th May, 1866
(B) 10 [, 1870 (B) 10th June, 1870
(C) 15 ©s, 1960 (C) 15th May, 1960
(D) 10 fC9=R, 1820 (D) 10th December, 1820

78. QARG dvre faviy wu 9 wwfg 78. Business Economics is specially related

2 to
(A) e o (A) Industries
(B) WH & Rigri 9 (B) The principle of firm
(C) 3 BREM | (C) Other factories
(D) fHxlt 9 =& (D) Nothing
79. oMUl SR @ WG ¥ Suelel FrAl 79, Use of available resources in the best
BT AT @7 ¥ ST fhar & 8 possible manner to achieve desired
objectives is :
(A) fagm= 2 (A) Science
(B) Wifs fasm 8 (B) Physics
(C) ey fae & (C) Ideal Science
(D) &l @ (D) Arts
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80. ARG 3= |l i oI ol 80. In taking proper decisions Business

Economics functions as :

(A) ey faeme 8 (A) An ideal science
(B) Hifcd fasm 8 (B) Physics

(C) fas & (C) A Science

(D) @l & (D) AnArt

81. IoMl & T § fafa= e @ 81. For the implementation of a plan ...........

s T IS essential between the various
departments.
(A) HA9Y (A) Co-ordination
(B) dcar (B) Division
(C) UGB (C) Assimilation
(D)  STEfTbIehROT (D) Modernization
82. UEaEA® A wHERIdar v @) 82, Business Economics is mainly related to
frara & gefg 2| the activities of ...............
(A) SEm (A) Industry
(B) WA (B) Firm
©) SrefaraRen (C) Economy
(D) SUYa H § I Tl (D) None of the above
83. WH @1 Y e BN © 83. The prime objective of a firm is :
(A) M BT STEBTH FRAT (A) Profit maximization
(B) SUIGH AHTA HAT (B) Production maximization
(C) TN & &F | BF BT (C) Cost minimization
(D) SUYa H A Bl 7l (D) None of the above
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84. T AT T P ST HqERI @ 9didl & 84. Price demand shows the quantities of

S Y ST R W e goods that a consumer at various prices :
(A) TWRIET BT TR B (A) is ready to purchase

(B) ¥U B IR & (B) s ready to sell

(C) YIshd N (C) repurchases

(D) Yfasg & (D) resells

85. U® T 9% 98 © forgal AT gt & 85. A Giffen good is one whose demand

(a:qiﬁ@f _ qgﬁq'\r)a-s[- increases, other things remaining the

same, when :
(A) SO DA Fedll B | (A) Its price increases.
(B) SUHIF Bl M Fedll B | (B) Consumer’s income increases.
(C) TSI WIS ITH T B dbld (C) Price of its superior subsitute
gedl 2| decreases.
(D) SUYd H § I el (D) None of the above
86. HNT &I A1 BT BT § : 86. The statement of elasticity of demand is :
(A) TIRHATTHS (A) Quantitative
(B) TUTE (B) Qualitative
(C) G (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H A Bl 7l (D) None of the above
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87. HOT @ oI yoIfdd 8l @ ¢ 87. Elasticity of demand is affected by :

(A) T8 D I N (A) Price of commodity
(B) T Bl Upfd gNI (B) Nature of commodity
(C) sl TR &R (C) Customer group

(D) SWF &l (D) All of the above

88. IS HAT &) T I THbE W Af¥d €, @1 88. If income elasticity of demand is greater

T 3. than unity, then commodity is :
(A) Th & 9% (A) An inferior good
(B) Ud foreTRraT (B) A luxury
(C) UH ff+ariar (C) A necessity
(D) TS iy %] (D) A non-related good
89. ol o/ wH W a¥qY WIS W Y M 89, The expenses which are actually paid by
g Pl PEd T the firm for the purchase of goods from
other firm are called :
(A) I oIl Td (A) Implicit cost
(B) WX ITd (B) Explicit cost
(C) ol ol d (C) Total cost
(D) SUYd H § I el (D) None of the above
90. T ®I Uid IHI3 AN Pl Hed @ - 90. Per unit cost of a good is called :
(A) Gl ReR oI (A) Total fixed cost
(B) URGeIA oNTd (B) Variable cost
©) 3T AT (C) Average cost
(D) SUYa H A Bl 7l (D) None of the above
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91. AR B Udh AR ghls & IdIeH 91. The addition to total cost due to the

& BRI Hel g | E_if qfs B Peg & addition of one unit of output is called :
(A) 3Nd orTd (A) Average cost
(B) <AHId AT (B) Marginal cost
(C) &l olId (C) Total cost
(D) Sugad FHI (D) All of the above
92. I offed omrd H glg Bl &, ol : 92.  If average cost is rising, then :
(A) AC=MC (A) AC=MC
(B) AC>MC (B) AC>MC
(C) AC<MC (C) AC<MC
(D) Suga Tl (D) All of the above
93. FHfRad # ¥ PH-HI SR & HJe 93. Which of the following is suitable
% SEDC o 37 condition of producer’s equilibrium :
(A) @M gH BT AR | (A)  Profit should be minimum.
(B) AT T AT 3 | HH BT (B) Marginal cost should be less than
ARy | marginal revenue.
© AT oINTd (MC) dh HH= 3T (C) MC curve cuts MR curve from
(MR) T & = & PredT 2| below.
(D) Sugad FI (D) All of the above
94, YRl AR gRT U SHhIS Scded 94. The per unit production of the variable
B P D factor is called :
(A) 3Nd IATeA (A) Average production
(B) ot STGT (B) Total production
(C) M ScUreH (C) Marginal production
(D) SUYa H A Bl 7l (D) None of the above
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95.

96.

97.

98.

C010205T

yfied & oW o i §
(A) Ol o foRed omy
(B) JHfoRad ArE ¥ arfaRad Icres

(C) aIfaRad o™
(D) Suied 7 ¥ PIE Tl

ged Ufihe &1 | fEfaRed s |
AR BT &

(A) SAEd & IRaaie ArE

(B) °f wfcreen

(C) IFIHRATH IUTEH

(D) SWE ¥ | TS el

oot gfeafar & 9% B

(A) DT YTedr gd A ETd 8
gl

(B) AT YTIehdl Ud B fRITSId el
gl

(C) ®ac B e BT |

(D) Had AT ae Bl B

ol JfCRIATET H Seares & A

(A) WHRR B ©
(B) I AArGGR BRIl @
(C) 9AMRR B &
(D) Tfa: YereR BRil 2

(30)

95.

96.

97.

98.

Law of returns means :

(A) Additional income from sale

(B) Additional output from additional
factor
(C) Additional profit

(D) None of the above

Law of diminisning returns is applicable
the to :

(A) Variable factors of a production

(B) Perfect substitution

(C) Optimum production

(D) None of the above

In perfect competition, each firm is :

(A) Price taker and quantity adjuster.

(B) Quantity taker and price adjuster.

(C) Only price adjuster.

(D) Only quantity adjuster.

In perfect competition the demand output
is:

(A) Elastic

(B) Perfectly elastic

(C) Inelastic

(D) Perfectly inelastic
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99. fbdg 9N § ®H T fFeiRd 98T o 99. In which market, a firm cannot determine

HhdT ? price ?

(A) U iR (A) Perfect competition

(B) TUSIEDHR (B) Monopoly

(C) IR (C) Oligopoly

(D) UM hNT Tferafrar (D) Monopolistic competition
100. @ § qUf gfoRNAIT wH und @Rl 100 In long-run a perfect competition firm

3 earns

(A) GHNT o™ (A) Normal profit

(B) MY ¥ 3Ifd o (B) Supernormal profit

(C) @i (C) Loss

(D) ¥ @M 9 8 (D) No profit no loss
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wemdt & 89 aRi fadwedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, T7 Tl H 3T MRaR fodm M1, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & 3ramar =9 ®el W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 el @l
AaIgdd U foram S |

e T & SWa Wendt v MRee B
3T OMR Answer Sheet SUTE &XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-eT ¥ ANT-gab, Defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN AT Iroid 2 |

7 & Rl U9 Sl wurReT § f=Tar g9 @l
T H U BT SN HUAROT & J= 2T |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

&
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£
o
a,
|
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